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Aptitude & Mental Ability Set 10
1. In how many years will a sum of Rs. 1,600 amount to Rs. 1852.20 at 5% per annum
compound interest?
a.3 b.4 c.5 d.6

e5.1600 op6v18) 5% 246581(0 Fal (B 6ullly gD Q&TessI(H 616G 66T D evsT(h&6ilev em. 1852.20
HlemL&(@EW?
3.3 . 4 8.5 . 6
Solution
Given A =1852.20, P = 1600, R = 5%.

_ R
A=p(1+50)"
1852.20 = 1600 (1 + — )™

100

1852.20 = 1600 (== yn

100

= (1.05)"

1852.20
1600

1.157625 = (1.05)"
(1.05)3 =(1.05)"
N=3
2. Find the area of the iron sheet required to prepare a cone 24 cm high with base radius
7 cm

a. 704 cm? b. 702 cm? c. 700 cm? d. 668 cm?

24 @&, 2Wppb Siguss ST 7 QF.15. QsTesTL Fabl SWflss Caemeuwnest GHDL
HSL_1g60T LILIL| ST60018.

a. 704 cm? b. 702 cm? c. 700 cm? d. 668 cm?

Solution

Radius=7cm

Height=24cm

slant height 1 =v(h?+r?)
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1=v(242+72)=v(576+49)=v625=25cm

1=25cm

Total surface are of cone=nr(l+r)

Total surface area=(¥) * 7(7+25)

Total surface area=(¥)*7*32

Total surface area=704cm?

Hence metal sheet required to make cone including base=704cm?
3. The sum of the series 31+33 + ...+ 53 is

a. 729 b. 341 c. 504 d. 604

31+ 33 +....+53 e1651) QBHMLIfl65T For(hSH6L 6T6BTELT?

a. 729 b. 341 c. 504 d. 604
Solution

=a,a+d,a+2d

D means difference between the numbers
D=33-31=2

Sn = % (a+l)

To=1l=a+(n-1)d

l=a+(n-1)d

(n-1)d=1-a

n=11+1=12
Sn=% (a+l)
Sn== (31+53)
Sn=6*84
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Sn =504
4. What percent is 5 grams of 1 Kg?
a. 5% b.1% c.0.5%

1 £Gevrm ymsli (& 5 Hlymbd % erevrent?

a. 5% b. 1% c. 0.5%
Solution

9. 39 - 5 -0.005=05%

1kg 1000g 1000

5. Find the G.C. D. of a3-1 and a2-1
a. a2-1 b. a+l

a3-1, a%-1- 61 5.QUIMT.6U. HTETOTS.

a. a1 b. a+l
Solution

From the formula
a-b3=(a-b)(a®+ab+b?
a’?-b%2=(a+b)(a-b)
a’-1=(a-1)(a2+a+1)
a’-1=(a+1)(a-1)

The common factor is (a - 1).

92x18% .
6. The value of :16 is

2 4 16
a. 5 b. ; C. a
92x18% . .
—15— 60T S

2 4 16
a. g b. ; C. a
Solution

92x18% _ (3%)2x18*
316 316

we can split 18 into 9 * 2
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d. 0.2%

d. 0.2%

c. a1

c. a3-1
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(31)2x(9+2)*
316

_ (3*x(9=2)*

316
_ ()™ (3H)*()*
- 316
_ (3)*(3)3+(2)*
- 316
_ ()
- 316
- @' _16
T3t g1
7. The cube root of 0.027 is
a.3 b.0.003 c.0.03 d. 0.3
Solution

-0.027=-0.3*-0.3*-0.3
The cube root is -0.3 [as -0.3 comes three times}

(0.027)6tT 63T FLp6LLD

a.3 b.0.003 c.0.03 d.0.3

a+b b+c c+a

8. IfT =—=—-= k, Then the value of k is

a.0 b.1 c.2 d. atb+c

a+b b+c c+a . Y .
—=—=T=k,6r€6ﬂ61)k6mwg‘ﬂu|_|

c a

a.0 b.1 c.2 d. atb+c
take a=b=c=1

1+1
1
1

k=2
Now, a=b=c= 2

2+ 2
2*2
2

therefore , k=2
now let's take a=b=c=7

7+7
*7_k
7
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k=2

9. The ratio of boys to girls in a class is 4:5. If the number of boys is 20, then the number of
girls is
a.15 b. 20 c.25 d. 26

Q(H eu@GLILilev WmesuTeufa6l, WmesstallwifgseT all&lgn 4:5. wressteuiserisr eessressiidens 20
61651160 LoMevoTaNWITfl65T 6T6BBTEDTN H6005

a.15 b. 20 c.25 d. 26

Solution

Let x and y be the no. of boys and girls in the class.

Then,

IR
Ul |

?: g [Given that x = no. of boys = 20]

4y = 20x5
4y =100

_ 100

4
y=25
Therefore the no. of girls in the class is 25
10. At what rate of interest compound interest per annum will Rs. 640 amount to Rs. 774.40
in 2 years

a. 8% b. 9% c.10% d. 11%

2p6801(H Fal(h euL_lpuilev eTedTenT F&H6TESHS160 . 640 246018 Q6sor(h DpevsT(has6ilev erp. 774.40

S BW?
a.8% b. 9% c.10% d.11%
Solution

Solution
_ R
A=p(l+_-)"
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774.40 = 640 (1+ —-)2
100

774.40_01. Ry,
640 (+100)

(L1)2=(1+ —)2

100

11=1+ 2%

100

R =111

100
—-=01
R =0.1*100
R =10%pa

11. A circus tent is cylindrical to a height of 3 m and conical above it. If the base radius is
52.5 m and slant height of the cone is 53 m, find the area of canvas required to make the
tent.

a. 315 7 m? b. 3097.5 © m? c.2782.5 T m? d. 2997.5 7 m?

Q(H FiHESH6N Falmywmesig 315 2 wysTer 2 (hevenullestidg Fabl enwhsTH Gumestm
aUlpeUSH S EVI6TT6NG). 1S60T HiplIL&S ST 52.518', salbilest #muwywigd 5315 stesfley, 1&gl
SleW&EHS CoHemeulest Hsgmetr glevstluilest LITLienLs sewo1adl (s,

a. 315 o 152 b. 3097.5 i 152 c. 2782.5 1 152 d. 2997.5 152

Solution

Radius of the cone = 52.5m

Height of the cylinder = 3m

Slant height of the cone = 53m

Area of the canvas = curved surface area of cone + curved surface area of cylinder
=mrl + 2nrh

=nr (1+2h)

=nx 52.5 (53 + 6)

=m*52.5*59

= 3097.5n m?
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12.

13.

Area of a square is 2 hectare. The diagonal of the square is

a. 250 metres b. 100 metres c. 50v2 metres d. 50 metres
Q(h &8T5 Slett LiFLiLeney 1/2 ej&81, sTevsllev &8I75Sl6tT cemeveil L _____ (S LD.
a. 250 15 Ly b. 100 15U L c. 50v2 18U L d. 50 15U L
Solution

Let the length of each side of square be 's".

Now, the area of the square = 1/2 of hectare = 0.5 hectare
1 hectare =10000 sqm

So, 0.5 hectare = 5000 sqm

Side * Side = 5000 sq m

Side = v5000

Side = 50v2 m

Length of the diagonal of square = v2s

=50 x V2 x V2

=50x2

Length of diagonal of square = 100 m

The surface areas of two spheres are in the ratio 9:25. Then their volumes are in the ratio

a.27:75 b.27:125 c. 81:625 d. 729 :15625

Qm Gsmemmserflest ypLiLgliLeTsysst 9:25 eteotn eflflssHlev 2 6itong). Seumnilest oot

Slemeyserflest all&lsi
a.27:75 b.27:125 c. 81:625 d. 729 :15625
Solution

surface area of sphere 1

9
surface area of sphere 2 - 25

Surface area of sphere = 4 nr?

amr? _ 9

4amr? 25

When we take square to right side it will become as square root
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14.

15.

T1_3
5

T2

volume of sphere1 _ 4mr}

volume of sphere2  4mr

rd _ 3x3+3 _ 27
3  5x5%5 125

The product of two numbers is 1600 and their H.C.F. is 5, the numbers is

a. 320 b. 1605 c. 1595 d. 8000

B\ eT6BE1 61Tl 68T QILI(H &6 B Mema 1600 whm|b Siemeussrilstt LS..GILIM.6v. 5 etevtlev eTevoraserflest

8.0, ______ (S LD.
a. 320 b. 1605 c. 1595 d. 8000
Solution

Let the two numbersbe x and y.

xxy =1600 HCF =5

HCFxLCM =xxy

5x LCM = 1600

LCM = ~22 =320

Complete the series1ZA,3YB, 6 XC, 10 WD, ?

a.14 VE b.15 UE c.12VE d.15VE

1ZA,3YB, 6 XC,10 WD, ? steéstn suiflemaenw HlyLiLs.

a.14 VE b. 15 UE c.12VE d. 15 VE

Solution

The difference between numbers is increasing as 2, 3, 4 and then it will come as 5
1,3,6,10,15

The first alphabet on each term is in the reverse order. So Z, Y, X, W and it will come
as V.

The next alphabet on each term is in straight order .so A, B, C, D and it will come as E.

The answer is 15 VE

Learning Leads To Ruling Page 8 of 13



http://www.winmeen.com/

Aptitude & Mental Ability Prepared By www.winmeen.com

16. A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the other he
loses 10%. Find his gain or loss percent on the whole

a.Loss % = 90% b. Gain % = 5% c.Loss % =1% d.Loss % = 7%
BB 0855 EMHEIG6T 66ubleumesTenmUD . 594-68 e(meuf aflbmmy. @eusurm| allHmslev
10% @evomui(pLd WwHm&led 10% BLL (P H6U(HEE JHLLLGI. CISESSSIEL H6u(HEE 6FHLILL

@60MLID S16v6vG)| [BLL FHEIHLD HT6vs15.

3. BLL #5aigb = 90% Sp. @evrLid &6z = 5%
8. BLL 856ai5b = 1% iF. @60muLD &56igD = 7%
Solution

Find the total selling price:

one watch = Rs 594

two watches = 594 x 2 = Rs 1188

Find the cost price of the one he gain 10%:
Gain = 10%

Selling Price =100 + 10 = 110%

110% = 594

1% =594 + 110 = Rs 5.40

100% = 5.4 x 100 = Rs 540

Find the cost price of the one he lost 10%:
Loss =10%

Selling Price =100 - 10 = 90%

90% = 594

1% =594 +90 = Rs 6.60

100% = 6.6 x 100 = Rs 660

Find the total cost price:

Total cost price = 540 + 660 = Rs 1200
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Find profit / loss
1200 > 1188 = It is a loss
Loss =1200 - 1188 = Rs 12
Find the loss percentage:
Loss Percentage = loss/cost price x 100
Loss Percentage =12/1188 x 100 = 1%
17. The principal amount tripes itself at 8% per annum over a certain time. Find the number
of years.
a. 20 years b. 25 years c. 30 years d. 35 years
e GUIUUILL Sigeuresig) 8% eully aingHlev 6155H6m6vT Sp6uoT(HS6IT60 CLP6ITM)] DL BISM(EGLD

616018 SMT60018?
a. 20 eu(pLLD b. 25 eu(pL1D c. 30 eu(pLLD d. 35 eu(pLLD

Solution

Let sum of money is P

after T years, sum of money will be 3P as according to question,
rate per annum = 8 %

we know,

P*N*R
100

SI=

_ PxN=x8
100

final sum of money = simple interest + initial sum of money

3P=SI+P
_ PxN=x8
2P = 100
_ *N*8
" 100
N = 2% - o5

==
hence, after 25 years sum of money will be triple itself

V5+4/3
V5-v3
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a.3+/15 b.4 +/15 c. 2+V/12 d. 4 +V/12
SILIL| &Mevor: : giﬁ

a.3+/15 b.4 +/15 c. 2+V/12 d. 4 +/12
Solution

V5+v3 4 V5+v3

V5—V3 V5+V3

By formula=(a+b)? =a? + b? +2ab
And (a? — b? ) =(a+b)(a—Db)

(f5+v3)*  _ 15
(/5)2-(V3)? =a+bvis

=5+3+2\/1_5 =a+b\/E

5-3

= 8+22‘/1_5 =a+bVis

§+ @ =a+bv15

=4+4/15
19. What number should be subtracted from each of the numbers 54, 71, 75 and 99 so that

the remainders may be proportional?
a.l b.2 c.3 d. 6
54, 71, 75 wbmib 99 eT65TM 626U 6UMT(T ETETTTETIL EB)ILD 6T[HS 6T6T0TEM6TBIE HLFSHSHT6V G 65T LIGLD

Fa&HSSH 60 Q(HEHELD.
a.l b. 2 c.3 d. 6
Solution

Assume that x be number subtracted from each of the numbers 54,71,75 and 99 so that
the remainders may be proportion.

54 -x,71-x,75-x,and 99 - X are in proportion.

(54-x)/(7T1-x)=(75-%)/(99 - X)

(54 -x)(99 - x) =(75-x) (71 - x)

X2 - 99% - 54x + 5346 = x2 - 75% - 71x + 5325
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(x2 cancel from both side)

- 153x + 5346 = -146x + 5325
153x- 146x = 5346 - 5325

7x =21

X =3.

20.Six men working 10 hours a day can do a piece of work in 24 days. In how many days

21

will 9 men working for 8 hours a day do the same work?
a. 10 days b. 15 days c. 20 days d. 25 days

6 o6evETH6T (15 Ceuemevemwl BHrGlemmssrmIs@ 10 wesll Crd Ceusmev LG, 24 B geiflev
(WPlplILIf. 9 SpevvTE6T , BT EMTetTMISE 8 Wwessll CEab Gauemev CFUISHTEV, 61556068T HITLG61 60
6uGeuemevemrwt (plpLiLif?

a.10 piger  b. 15 mrlsesit C. 20 BILs6iT d. 25 mriseir

Solution

6 workers * 10 hours * 24 days = 1,440 staff hours of work

1440

o5 - 20 days

A can finish a job in 20 days and B can complete it in 30 days. They work together and
finish the job. If Rs. 600 is paid as wages, then the share of A and B

a. 240, 360 b. 300, 300 c. 360,240 d. 400, 200

A etevtueury (i Geuemevenwt 20 L gerflevib, B etsotlou 2168 Geusmevemwt 30 BLserfley)b
wpriuf. @meupd Cainbg Geusnen &G, SeuGeuensvenwl (PipsHg cmH. 600 & HhigerT
au(BeUMUITESL QuibmerT eTestlsd A oim)b Best LMk, eTettent?

a. 240, 360 b. 300, 300 c. 360,240 d. 400, 200

Solution

A can finish a job in 20 days

A in 1day does: 1/20 work

B can finish a job in 30 days
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p y P y

B in 1 day does: 1/30 work
Total work = L.C.M(20,30) = 60
[20 =222 * 5.... 30= 2*3*5.. lcm= 2*2*3*5=60]
Efficiency*Days = Work
Efficiency of A = 60/20 = 3 work
Efficiency of B = 60/30 = 2 work
Total work 0 A and B = 3 + 2 = 5work
Total wages = 600 Rs.
Forl work = 600/5 =120 Rs.
for 3 work = 3*120 = 360 Rs.
For 2 work = 2*120 = 240 Rs.
Hence A receives 360 and B receives 240
22.Find the difference between simple interest and compound interest for a sum of Rs.
8,000 lent at 10% p.a. in 2 years?
a.Rs. 70 b.Rs. 80 c.Rs. 90 d. Rs. 100
em. 8000-5& 10% eully eigsslev @retoi(h pesoT(h&6il6d HemL @G Fal (B UL oSG0 vt
QUL Lp&GLD 267161 ef|SHWNEFSHE0SHE SMT6so1s.
a. em. 70 b. er. 80 c. . 90 d. em. 100

Solution

Difference between si and ci =p (ﬁ)2

=8000 (—2)?

100

=Rs.80
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